





Ans: (AorB) ?




The output voltage never excess the DC voltage
supply of the Op-Amp




; i llbe r TR _--'”erential_ circuits:
| Opposite inputs : highly
amplified
Common inputs : slightly
amplified

— Common-Mode Rejection




) Vc ~ %(V+ +V—)

V, =V, -V

+ —

Output voltage :

G, : Differential gain

G, : Common mode gain

Note:
When G, >> G, or CMRR —x
=V, = G4V




— 80600V

V,, =100—20 =80V V,, =100—40 = 60V

100+ 20 _ 60V = 100+ 40

Vcl =

- 70V

From(l)  V,=80G, +60G, 80600V

NB: This method is Not work! Why?



- Pratically, G4 = 20,000 to 200,000

e - T-Q in high-grade op-amp
- m-Ainput current in low-grade op-amp

(3) Zero Output Imp
- act as perfect internal voltage source
- No internal resistance




